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(a) f(x)=a3—322+22+1,20=20000
i. 100 Taylor 00 fM(2) = f(xo) + f
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iii. fMO)0o0000

iv. f(x) 0 Maclaurin 00000 (f(z) =tan Y (2) 00000 z€(-1,1)0 000000000
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(b) f(z) =log(l+2) O Maclaurin 00000 (f(z) =log(l4+2) 00000 0000000000
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(a) e*

(b) = 000 0<z<1

(¢c) sin(z) [2n—1000000000)
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) fM@) =1+, fA@) =1+2+ %, fBl@)=1+a+ 2 + 2
(8-2) (a) i f'(2)= 17 [(2) = — 1y
i Lo (1422 f(2) = (L+22) "D (z) + 2nzf ) (2) + n(n — 1) D (z) =0
iii. fHD(0) = —n(n —1)f"=D(0) O f(0) = 1, f7(0) =0 D OO fE™(0) = 0, fE™T1(0) =
(=1)™(2m)!

iv. tan=!(x) =r— %S4+ ()" Gyt

(b) log(1+2) =2 = 4 4 & =+ (—1)" 7 50 4o
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(83) (a) " =14+ 5+ + oy + 4
(b) mz =1—z+a? =+ (=) 2" 4 (=) iy
(€) ez sin(@) =sin (v +57) OO
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